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4 | 3REE f(x) =234+ 3ax2+3bx+cid, r=—1& x=2TEz &V, My = f(x)IZAP(, —5)
s WD,

(1) & a, b, cERDL.
(2) #htty = f(x) EORPIZHET DD, ZOWiFRe PESDORQTRDD L &, ZOHEKOHBRRLE X

Q DEEFEZE R &.
(3) ¥ PQLihfity = f(x) L THMENDEIEOREME S %R &.

() F{r) = 3t +6ax +3b
= 3(x*+2ax+h)

Fl-n=0dY, {-28+b=0 .~ 2a-b=1 @
£2)=0 &Y. 4+4a+b=0 - 4a+b=~4 - @

®.@4y, a=-4,b=-2

toeF. fm= a3 3xt-ex+e
EPEiB3zens, f)=-5 . (-g-(rC=-5 .c=3

bAE &Y, a=—-§-,b=-2,c=—2-

(@) (0 &Y. o= xg——f,_’-x“-ex-:--g-'-

flo=3(x*-x-2)

s PrEIr3iErR . Y= -6(x-1)-5 Py=-ex+t

fo = (~6x+1)20 & XO-3x*+L =0
& 203-3x+1=0
& (x-1)(2x+1)=0

SXEN L), X=-L o gE-b(-f)r1=4 - (-4, 4)
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